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Geuglufwev/ CHEMISTRY

(&8 wHmbd @yidle el / Tamil & English Versions)

Crrid : 3 wenfl | [ Qwrée wHQuaErser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Sidlegeer @ (1) Swarsgy darésepnd eflurs udHard e drarsr aarusman

sflurisgs Gsrararan. FaLuSeie Gonulminder siemns
semsraniuurenfl_ib 2 Languires Gsfalssen.

(2)  ped seg spuy ewilemen LG TpgaISHEL LwetuB s
Ceualt(Hid. UL ST cuegeusnE U DweU{HESHLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Black or Blue ink to write and pencil to draw diagrams.

Goldy - Coenanuren @LSEd LLD euerbg, swHLTHS®ET 6T(HEIE.
Note : Draw diagrams and write equations wherever necessary.

LS -1/PART -1

G@OIUY : (1) Svesgl elais@sdEh s weldseb, 30x1=30
(i) sflurer eflenLang CaibOsBhss er(psls.

Note : (i)  Answer all the questions.
(iif Choose and write the correct answer.

1.  Geriyers sroufler griew

(1) 100% (<24,) 98% (@) 90% (/) 12%
Purity of blister copper is :

(@) 100% (b) 98% ) 90% (d) 12%
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2
rgeny srpdle Ao waflCrrn AL( mausgl Curg e @ deagsEw
Gum(mer.
(o) Qurrsensn () sFH (@) TNT (FF) @uT sasd

When ether is exposed to air for sometime an explosive substance produced is :

(@) Peroxide (b) Oxide (c) TNT (d) Superoxide

P- @3 TUibl L _rellem euigeuld

(=¢) CGamend  (24) @GCermeuir Gena (@) cibud (rF) 2 (mener
Shape of P-orbital is :

(a) spherical (b) clover leaf (c) dumb-bell (d) doughnut

SpeasramuaehmeT eTg eraflu mgHi?

(1) CH3 -0 -C,yH; (=y,) C;Hs—O—CH,4
Which one of the following is simple ether ?

Ang Cpis@EiS® eremplme@unturs)

(@) K=K, (@)K <K, (@) K> K, () K=0
If Ang is positive :
(@) K=K, (b) K. <K, (€© K.>K (d) K.=0

92X 5 Y220 arawp efemanu@d Qauefliu@d « wHHWD B FseTsaflen
TS

(4) 3a, 3B (=) 5a, 3P (&) 3a, 5B (/F) 5a, 5B
In the radioactive decay gyX%2 — 4,¥?20, the number of a and B particles ejected are :
(a) 3a 3p ®) Sa, 3B (© 3a 58 (d) 5, 5B



10.

3 4483

T, K, T, K (T; > T,) Qautiuflenavssenédlan_Cu Ceuamer Qainyw g Geuliu
Quidlrsdlen sgeiss SAnmen SpssanLaury samsSl e,

1211 15100 5772 )y 100
(‘5")( T, ) (<) T,

T T
(@) T2><100 () T X100

The percentage efficiency of a heat engine working between the temperature T; K and
T, K (T;>T,)is given by :

T =T, T;-T
—=—— %100 1_72 |x1
T Ty
(C) :l:;X 100 (d) T—IXIUD

DLEL_TED GTEITLS)

(=) 2-waplrrad Q'L eamed () 3-evaplgreél Gyl emmed
(@) 3-emapgrésl Wyl L Cared () 2-engplprésl L Gemed
Aldol is :

(a) 2-Hydroxy butanol (b) 3-Hydroxy butanol

() 3-Hydroxy butanal (d) 2-Hydroxy butanal

aplCrr B5Cgar Sl rdgmap(GLet @nés admaruies mHul(é
Garliug.

(=) el Cor yruGuen (<) 1- edpLCpr -2- LyliuenTed
(@) 2- en_Crr 1- yrdiuesTey () 3-enpLGrr yyluenme
Nitromethane condenses with acetaldehyde to give :

(a) nitro propane (b) 1-nitro-2-propanocl

()  2-nitro-1-propanol (d) 3-nitropropanol

LT 5555 Sl senrsedd enplCrr Quenener Wenarmm LGLILD @HEsD
Qawigred @en & Gamowrs o @ _Teug)

An intermediate compound formed when nitrobenzene is electrolysed with conc, H,SO,, :
(a) CgHz NH-NHCH; (b) C¢H; NHOH

[ Hmlys / Turn over



11. &pw wHBEHsE eraflfla e L sauriuLs sy
(1) Sieneu FNUMLWTRTEE
(=) Seumenp erefifled gumfisamd
(@) Cpmuan_régn Smdsmar erafifler saumHee
() erafifler 2l sauruul® uriys sauruuisms).
Colloidal medicines are more effective because :
(a) they are clean
(b) they are easy to prepare
(¢) the germs are more towards them
(d) they are easily assimilated and adsorbed.

12.  &pssamL arbssgser @05 Quss hnaoubd Hfeuls g-19rmster siene
Berdenguyb QubmsTerg) ?
() c-gisar (<) YGymiimen (@) B- giseT (FF)  Blapyme

Which of the following particle having same kinetic energy, would have the maximum
de-Broglie wave length ? ‘

(a) o-particle (b) proton (c) B-particle (d) neutron

13. GEnsCars 218 gé Sifle Hhal whmb Comguib SHCHLer
S®SDS!

(1) e G (<) Quigr HSCLLE
(@) Queénr HACLLG (r) Qanssr HHACLLE
Glucose forms with acetic anhydride and sodium acetate.
(a) di acetate (b) tetra acetate

(c) penta acetate (d) hexa acetate

14. gaflwmseflen o meaurgelen Hi L sligom pmelen WELLEGET :
(=1) CoireMui@ Casrar_ame (=) erdTsEMSEH Casram el
(8) gfu (%) gpueddor oy
Standard free energies of formation of elements are taken as :
(a) positive (b) negative
(c) zero (d) infinite value




15.

16.

17.

18.

19.

Couflé swBlenculien seamenio

(=) Qurigé soflene (=) Sleroouireng
(@) papdloame () @Qram@id
State of chemnical equilibrium is :

(a) dynamic (b) stationary
(c) none (d) both

Epssam_aubdmer vy @elFspndll uaTyLWE?

(<) CH, CH, COOH (<=4,) HOOC ~ CH, - COOH
(@) CHy CH (OH) COOH (rr) Cl, CH COOH

Which of the following compound is optically active ?

(a) CrHy CH, COOH {v) HOOC-CH,-COOH
() CH; CH (OH) COOH (d) Cl, CH COOH

Mever Ceus wrHhHuien Qewuddpean Flafss LwaTLBHoUF
(21) 2188 cllenaiGous wrH (=) senirey eflenes Geus wrHH

(@) 2wirsHaer () eflenen Geus wrhbluflen H&s
A substance which increases the activity of a catalyst :

(a}) positive catalyst (b) negative catalyst

(c) promotors (d) catalytic poison

SO uMTULSMS samenmigufd argen e gellyLen aueiwl (Piguw?

(i) HI (@) HF (@) HBr (r) HC
One can draw the map of building on a glass plate by :
(a) HI (b) HF (¢) HBr (d) HC

2 wilw eurusseen erevglymen HriL wHLY

(@) siflsd () e@pay

(8) yRPwd (F) 1088 @eopey
Noble gases have electron affinity.

(a) high (b) low

(c) zero (d) very low

4483
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20. arpg@arBsaiar (psHus Sra).
{3)) Q& Gerarl
(@) s

Important ore of Lanthanides is :
(a) Pitch blende

(<21) CurGenrens_
(m) @CrrepwL.

(b) Monozite

() Gypsum {d) Chromite

21. e2uifl Gemquub enaplyréansl BieLer elaaflibg 2 em_ré@eus
(%) Zn—-H, {<=) Na,ZnO, (@) ZnO (rF} Zn(OH),
Excess of sodium hydroxide reacts with zinc to form :
(@) Zn—H, (b) Na,ZnO, () ZnO (d) Zn(OH),

22.

eflevarw oialleurinsd sber, @lamGyrrl.urmb, @ dsaprd swbs KOH
pflweneusenéden G o ¢rar elepemufen Gl

(=) Califlwed aflemen
(@) srienLich o8am aflenes

(<) 5O@ sranblenti) eflene
(rr)  ammeslien ellanen

The reaction between a primary amine, chloroform and alcoholic KOH is known as :

(a) Gabriel reaction
(c) Carbyl amine reaction

23. iradefluiey soeam®
(@) K= Ae /KT

@) K=ae T

Arrhenius equation is :
-1
(ay K= Ae R

~Ea
{c) K=Ae Z

24. HL@Led Grenug)

(1) TO, (<) Cu,O
Rutile is :
(a) TiO, (b) Cu,O

(b) Mustard oil reaction
(d) Hoffmann reaction

-RT
(=) K= Ae a

(F} K=A BE%{T

) K=Ae /%

d K=A e 7RT

(@) Mos, (%) Ru

(©) MoS, (d Ru



25.

26.

27.

28.
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HCl wpgid Cemguwid sriuGar’ smb LrTsgelld uwetu@w Hphigr iy :

(1) QuriLrflwn QuiwrhsGer (=4) Qerriigeden

(@) A wad (%) GuiHd yrés

For the titration between HCl and sodium carbonate the indicator used is :
(a) potassium permanganate (b) phenolphthalein

(c) litmus (d) methyl orange

MhFOe(h GMSHL 2 orL_Teug) :

(&) 4f s rrenseflen Frren wepmiidlenTe
(=) &f erevsrrengeflen Erop wenplibemme
(@) 3d srsiyrensaflen Fyran weanpLnSlenme
(FF) 3d erevdlrrenaatien From wenplbarme
Lanthanide contraction is due to :

(a) Perfect shielding of 4f electrons

(b) Imperfect shielding of 4f electrons

() Perfect shielding of 3d electrons
(d) Imperfect shielding of 3d electrons

wse Qe flaaws saflo aflamsamu Carps of 2 Cors swafluilen eramapd
smeneys Cetwsdlen srbs Simuusdmen 4.9 BM. eueyGonsgslen wpGmmm
craamapdl Cerow enLwrsrpsbseananty GaramLg. ecuaGarsd

(1) Fe2* () Co?* (@) Mn2* () Nit*

A metal ion from the first transition series forms an octahedral complex with magnetic
moment of 4.9 BM and another octahedral complex which is diamagnetic. The metal
ionis:

(a) Fe2+ (b) Co2* () Mn2* (d) Ni2*

agHden Hevarsaradiedmpg Qi-felen o @mL_rés o gajeug

(31) B985 e (<=3) sredls BMel

(@) Qufgmells il () &srelld bl
Ethylene glycol forms terylene with :

(a) adipic acid (b) phthalic anhydride
(¢) terephthalic acid (d) oxalic acid

[ Hmuys / Turn over
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29. =fCanm Silesdine Qurmssbloangg ag?
(<=1) QHpenen 2juwie) (o) 60 et jeraf]
(@) rflwery Heento (/) NaOH senTgeiley senmilr SHerenio

Which is not true of amino acids ?

(a) amino acids form Zwitter ion {b) has iso-electric point

(¢} dual character (d) amino acid is insoluble in NaOH solution
30. Quésaidlwr ureb WL O3S

(1) &S Qaraaliurs (2) e prIserTs

(@) aulipmy CarenmmsEnéd (F) Lrafsdle

Colloidal milk of Magnesia is used :

(a) as germ killer (b} as fertilizer

(c) for stomach disorders (d) as tonic

L@l - 11/ PART-II

@iuy : () eCssmb uflemenigl dadsEnde eSlepwer. 15x3=45
(@) qalarm camadpEh @ g Brem® wrsdwhsafild
eflenwafl.
Note : (i)  Answer any fifteen questions.

(i) Each answer should be in one or two sentences.

31. giser, eme CanuBsss.

Differentiate between particle and wave.

32, GTeu&Lpmen B L LD euenyuimy

Define electron affinity.




33.

34.

35.

36.

37.

38.

39.

9 4483
H,PO, Q(F &roggieud e.enLwg). gen?

H;PO, is diprotic. Why ?

GermbCuir sespliumengetew (WarmbGur grdeueal) uddl GHUY s,

Write a note on plumbo solvency.

QoL fleoas salviseEpn dupdlar CsfomsEpw adlmawsdsarmsu
vweruSlenmen. erem?

Why most of the transition metals and their compounds are used as catalyst ?

ariuf sOCUL L sksmer Qeuliuliu@sgw Curg eréten ellenera| FHUEL?

What happens when copper sulphate crystals are heated ?

udly famgey fener erenprer erentan? THSHESTLH S([HS.

What is spallation reaction ? Give an example.

sden sLgs Heaowry Geauliuflae - uarum.

Define superconducting transition temperature.

Qeutiu Qusseflwaie, Harflucy spben Grammd elflemens sms.
Give Clausius statement of second law of thermodynamics.

[ Smuys / Turn over
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40. Genaumid ellenans@pdE Ang wfllamus samrsd[Hs.
(a)  3Hagg)+Na) = 2NHs,

(b) N204(g} — 2N02(g}

(c) PCIS(g) = PCIS{g}+C12{g}

Calculate Ang for the following reactions.

(a) 3H2(g} +N2(g) = ZNHs(g)

(b) NQO.;(g} = ZNDZ(E]

() PClgg) = PClyg)+Clog,

41. &flenen auens sueTWI)

Define order of a reaction.

42. SIMTEUTLHE| FTEOLD GUHFWLIT.

Define half life period.

43, Wenpenen seuT&sl cuenrwm.

Define Electrophoresis.

44. NenCeud) soren Hlenm cuenrwm

Define electrochemical equivalent.
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45. 8Gsrriinfs oo, msrd srirumens CsranL. el sHL seraw
@aerg Gerww. Hurwuiu®hsss.

Mesotartaric acid is an optically inactive compound with chiral carbon atoms, Justify.

46. Semmenew s@mLflyb @ym Cargamansemats S(Hs.

Give two tests to identify phenol.

47. ppefiemamw QoL d yosaprasaiar yelaw 573 K Qauuuflaeuiio
Cu-ayL et GHLBSSHared eretan Bla(pld?

What happens when the vapour of tertiary butyl alcohol is passed over heated Cu at
573 K.

48. Qapssr QwgSden QLlgrlefen eumiuren eT(pdl, SiemUMmU CUMTS.

Write the formula of hexa-methylene tetramine and draw its structure.

49. HVZ fleneieni er(pgis.

Write HVZ reaction.

50, @CerrCrma&fen ereueurny swrfssuu@Eng? g Lwer wrg ?

How is chloropicrin prepared ? What is its use ?

51. Geudl wmsgieud suenruig.

Define chemotherapy.

[ ®Lys / Turn over
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u@S - 111/ PART-III

GOy geaeurm DfellemBgIb @enpbsULl b Bm elemrésener Csi0sHEE
Qurgsd ey NamssErdsE elanwellgsea]b. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.

ifley o / SECTION - A

52, ep@&sam %Nl Lrd Qardrangenw eSeufl.

Explain molecular orbital theory.

53. Sloeui igar wadw grgefelmpg ereucurm NAZCsHEsLGEDS?

How is silver extracted from its chief ore ?

54. @ThgaaTH&ERHGWL, by mar(hasEns@n 2 drer Counurhamer erpgis.
Write the differences between Lanthanides and Actinides.

55. @wupens oleaisaiied aflCorEgCermletien Cewourfhisamer oflors@s.

Explain the functions of haemoglobin in natural process.

Sifley 4, / SECTION - B

56, eren_Cpmllullen flmulSlwdysamer erpss.

Write the characteristics of entropy.

57. deriwi Qardransemu vweausS Qarh weapuwid ifls erey SO,
GupeuspEs Comeuwrer HlLBFM@EMET eT(LHSIS.

Write the conditions to obtain maximum yield for the formation of SO; by contact
process, applying Le chatlier principle.




60.

61.

62.

63.

13

flssarar ellenanilen cuamssmET FGEHS 2 STraTSSHLen cileufl.

Explain the different types of complex reactions with suitable example.

25°C Qouuuifleneudler 0.095 M Gaiey QarawmL. ZnCl, semysedled Zn gew(
@ussLLURADG. Zn?t/Zn serswdfer emf =-0.79 V erafléd E°; 72+
wdlmud semsSl@.

A Zinc rod is placed in 0.095 M Zinc Chloride solution at 25°C emf of Zn?* /Zn half
cell is —0.79 V. Calculate E°,, /7,2 + -

Yifley & / SECTION - C

LA mHsT sWrfls@n Wwensdr gGseIb epaim eTpsis.

Write any three methods of preparation of diethyl ether.

GREG BOLTD GM&Es ellenanullen cuflpeppeniu 6T(pg)s.

Write the mechanism of crossed aldol condensation.

#reflflells il Spssam_eubmLear ereueury ellenamyfidlpg?
(<) CH,OH (<24,) (CH;CO),0 (@) Br,/H,O
How does salicylic acid react with the following ?

(@) CH,OH () (CH,CO),0 (©) Br,/H,0

“yperr ruufrseanery updl @Gdluy euenrs.

Write briefly on Buna rubbers.

[ Hwiys / Turn over
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G0y : () Qurssb mreng Cadelaerde e wal. 4x10=40
@) efenr eraim 70 sL_Lmubnsea|b, Bewerar efamssaile gCGsein
epetTm) edlenTasEnd@ SlepLwiaf.
Note : (i)  Answer four questions in all.

(i) Question number 70 is compulsory and answer any three from the
remaining questions.

64. () eredlgren priLgeng LTS @D srreanlsamer eflaufl.
(<) Hauri perpulied 2wl eumysser ereusurm ASESHSs LIRS empen?
(a) Explain the various factors affecting electron affinity.
(b) How nable gases are seperated by Dewat’s method ?

65. (=) Qeuranflen enaweysd Gerng Qamerenaullsn sHEICHTATSET Wireneu?

What are the postulates of Werner’s theory of co-ordination compounds ?

(
(<) s8fwss pCerGLriyseaflen w@mEGIL LWLESMETS S(H5.
(@)

(b) Give the applications of radio isotopes in medicine.

66. (1) agr & wHmb Qs Gopurhsmen eleuf.
(=) Qupdr Aegssd wpmbd Gfgs Waelle wop o &mPLRIGET
sunflzgene elars@s.
(a) Explain Schottky and Frenkel defects.
(b)  Explain mechanical dispersion and Bredig's Arc method of preparing colloids.

67. (<21) e Carss sLsssHpen whmb Wau@gel s_sasdnasensd e Gu
2 arer Caumur(sener er(PaIs.
(=) @M Siewrsosdar emf-g creucungy SeLHloumii?
(a) Write the differences between electronic conduction and electrolytic conduction.

(b) How is emf of a half cell determined ?
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68. (=) aumetw@anseamrdlian s @wlysmer deflgy Seupdlen
Bevaliyggemeno LHH GHUAHS.

() i sl Quapwerailer eraueury swrissUUBHDS?
(a) Describe the conformation of cyclohexanol and comment on their stability.

(b) How is lactic acid manufactured ?

69. (1) g@flewamrw, rllaarmu, epefilanamu Sibasaer CauguBSE!s.
(<) UFSGLIeD siemolily upd efeurl.
(a) Distinguish between primary, secondary and tertiary amine.

(b) Explain the structure of fructose.

70, (=) C;HgO, erenp (pasemp amiur@erw sfwsGsiow (A) Geruy
swrfllde gievarelamar Qurmerrs HenL&flpg. Gaiow (A) P05 e Ler
Qaubutiu@Pssw Curg CHLO erearp epesamp eumiur@errw
Heapaypré Ceiwob (B) B5 smapg. Comobd (A) peng GefifellsauurL
St H,80, bpmid yenswb HNO,; soenauujLen sflenaryfibg Gefwowd
(©) 8 smADE. A, Buipb Cpsé sar_fipg cllamasmar er(pgis.

(=3) ‘A" erenm Gairotd gm euedlento GHS psalgCandil. ‘A’ g TErs Heuiy
Hipb QareRTL LS. g 396° C & 2 MmEHDg. GGarrenr(H 2-UL), LHHIL
ST 5H3s fleosgiLe ‘A’ slmayfibg @press Hauly Hpb Osram
aumny ‘B'enwd smEmg. ‘A’ KOH 2 Len eflenenfibg wgpeer Hipid Qemeir
‘C eranm Garwsenss smADE. (A), (B), (C) erenuen wreneu? elepansenar
ellend .

V0
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(@) CGHO eramm epavdaam eumiun( Gerawm e uCrmGngs Gamwd (A)

{2)

(b)

(c)

(d)

&&hs Urgmbari el wamwpaLwgl. (A) eng etenearGeus omhi
@deors Hlenauldia) GGenrfigy e eflenamfisg (B) eremn Gamogensuid
cllenanGeus wrpdl werallenaulles GGarrilayL e Faly. (C) erem
Camwgemguyd CQar®s&dmg. (A), (B), (C) m& seawmLdls. snEflu
cllenensener T(P&IS.

sereflar frésa womb 0.1 M Qehlelld énés blwsdear goman
sLHE D Spear aperpGuw 390.7 wpmbd 5.2 Cuor.Gs.52 8. sorearib =1,
2@W. Wilens eisd, HY el Cedley sdlueunenns sermadl(h.

An organic compound (A) of molecular formula C;H,O, is obtained as by-product
in the manufacture of socap. Compound (A) on heating with P,O; gives an
unsaturated compound (B) of molecular formula C;H,0. Compound (A) with
well cooled mixture of Conc.H,50, and fuming HNO; form compound (C} which
is an explosive. Identify A, B and C and explain the reaction.

Compound ‘A’ is a powerful oxidising agent and also it is a red orange crystal
which melts at 396° C, "A’ reacts with chloride salt and Conc.H,50, to give B’
which is reddish orange in colour. 'A’ also reacts with KOH to give ‘C" which is
yellow in colour. Find out (A), (B) and (C). Explain the reaction.

OR

Compound (A) with molecular formula C;H,O has the smell of bitter almonds.
(A) reacts with Cl, in the absence of catalyst to give (B) and in the presence of
catalyst compound (A) reacts with chlorine to give (C). Identify (A}, (B) and (C).
Explain the reactions.

Equivalent conductivity of acetic acid at infinite dilution is 390.7 and for 0.1 M
acetic acid the equivalent conductance is 5.2 mho. cm?. gm. equiv~ !, Calculate

degree of dissociation, H* ion concentration.

-00o0-



